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aO—F S {a] [B] 8 AEES| BFME a—pk
FEWL-EE | BFFAIILR 1[5] & 3136 13:30 20
RO-EE | BFFIILR 1[B] 5 3141 14:00 13
$H-5 BFATILR 2[5 B, 3211 15:30 21
FEWL-#E | BFAIILR 2[E] 5 3228 16:30 14
RO-BE | BFFIILR 2[a] & 3231 16:30 17
138(K)

O—F == 4] =] B HEaFES| HE a—k
RO BFUTILA 1[B] 5 1102 11:30 8
KR BFUTILA 1[B] 8§ 1128 13:00 8
1R H BFUTILR 1[0] & 1161 13:00 12
RO BFUTILA 2[a] 8 1202 15:30 17
Kix BFUTILA 2[a] Ef, 1220 15:30 12
5 H BFUTILA 2[a] 8 1244 16:00 20

14B(K)

a—F E4=] 4] [B] B HEaFES| FME a—k
RO BFUTILA 3[a]Ef 1301 10:00 9
KiF BFOUTILA [ 1310 10:00 2
1R H BFIUTILA 3[E] B 1322 10:00 14

£H-5H BFATILA 3[a] 3306 11:00 14
FEW-WE | BFFITILR 3[al & 3314 11:00 22
RO-BE | BFAIILR 3[a] 8 3316 11:00 24
RO BFOUTILA A[B] 8 1401 12:30 3
KiR BFUTIILA Al Ef 1410 12:30 10
5 H BFOUTILA Al Ef, 1422 12:30 22
£H-5H BFATILA 4[B] 8 3406 14:45 7
FEWL-BE | BFAIILR Alm] B 3414 14:45 21
RO-BE | BFFIILR 4A[B] 8 3416 14:45 23
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